R

Instrument Manifold.

M

TLAERRACR IR G IR = LA
T4, RAINBRSI M 5 A, AFRE
71PN42.0MPa, A #xi# £ DN4.0mm. 7 1&
SV N T RGO i, = RN
TLRE T T 2 R AR A A

W4 423 4 77 TGy I RE I 2 e
(R) MIE#ZE: (D) W, mfEzed
K HI1/2NPT A BRSUC A e S A
R, BEERPCRME LA T7/165 580
R E TR .

ox. 36"
TTANGHUA

&
R
T

Brief introduction

"Jianghua" instrument valve manifolds
include two valve manifolds, three and five valve
manifolds. We adopt NB series standard bonnet
with PN42.0 MPa and DN4.0 mm. The two valve
manifolds are designed for static pressure and
liquid level applications; the three and five valve
manifolds are designed for differential pressure
applications.

The manifolds can be divided into two types
such as remote mount (R) and direct mount (D)
according to the connection method.We adopt
1/2NPT female threaded connector to connect
instrument for remote installation and fix the
instrument and flange by using 7/16 bolts for

direct installation.

EITHAEPAN B FIEBRAR
H111i:0511-88431885 14 #.:0511-88431333 -1-
E-mail:huayang@vip.163.com



CRIRA

Instrument Manifol

RERE SR Assembly of standard valve cover

® K ATEZ) I 5 IR AT

® [RFFRSA THOR B 07, G B AR T
©® HRMERIBRTE, B R A

© PTRESFURIKIE FH IR -
® [ RIERAEMIRE: -54~540TC
® AR,

-54~232°C

@ Adopt riveting procedure of the active core and rod.

i 3"
JTTANGHUA

A1 2CKs RIFFIR S5 AR AR B R 8, I DAANTR] 1) B 42 i b R R 1T D e

® The thread of rod is in front of the filler which can aviod the corrision from the medium.

® You can adjust the filler due to the design of filler bolts.

® Applicable temperature of PTFE filler: -54~232°C

@® Applicable temperature of graphite filler: -54 ~540°C .

® Equiped with the dust cap which can separate the dust effectively. The labels of the cap stands for different

functions of the valves.

ZE¥I# ¥ Material of Construction

e 0 part FrE Material
1[4 Handle Anodffjdkgél:jmﬁ%nimor SS
2 | FHk4H Handle pin 304SS
3 |'EEHR4ET Set Screw 304SS
4 |[@FF Stem 316SS
5 giﬁ;ﬁl rffii?i?e?ua ¥kl Plastic
6 |HRHEH: Packing bolt 316SS(304SS)
7 |BURIEEE Lock nut 316SS(304SS)
8 |HAlH Packing washer 316SS
9 |08t Packing fﬁ%‘f“o?f;pﬁ
10 |i&J8 Bonnet 316SS(304SS)
11 |t Stem tip 316SS(Stellite)
W R =
& body 316SS(304S8,321SS) Blue: Isolate

i

TN
. :
!
o
/ !
!
/
/ !
[
|
|
~
o) Ko

T e ()

Green:Equalize

ARCREE ()1 ORI
Red:Drain/Test

EITHAEPAN B FIEBRAR
H111i:0511-88431885 14 #.:0511-88431333
E-mail:huayang@vip.163.com



AR

Instrument Manifolds

IR R LEMIFL Remote mount 2-valve manifold

g

cx 3"
JTANGHUA

4+FF187.5
LRss PN Epuy s . e :
T Inlet/Process 4 /43K Outlet/Instrument | HEG /AR . Drain/Test

M2RL-FN8 (J#EF-1%Y)

12NPT 24 Female

12NPTNIZSL Female

1/4ANPTIN RS Female

pNEl oy
Inlet/Process

H4 /4% Outlet/Instrument

He /MR 1 Drain/Test

M2RA-FN8 (JFEF-2%4)

1/2NPTHIZZ. Female

12NPTHIRL Female

1/ANPTWIRZ. Female

M2RA-FN4

1/ANPTIN IS4 Female

1/ANPTNIRSC Female

1/ANPTN RS Female

BEERLEMTAE Direct mount 2-valve manifold

A2NPT

1/4NPT(F)

“1/2NPT(F)
AR157.8
4 77164.2
= PNEP Y dn| , HERCE R
Type Inlet/Process it} H/x = Outlet/Instrument Drain/Test

M2DL-FN8-N8 (JFEF-3%1)

1/2NPTHHRZL Female

1/2NPTHMEZL Male

1/ANPTNIZZ Female

M2DL-N8-FN8

12NPTHMELL Male

12NPTH 24 Female

1/ANPTNIZZ Female

M2DL-N8-N8

12NPTHMEZL Male

1/2NPTHMES Male

1/ANPTNIZZ Female

EITHAEPAN B FIEBRAR
H111i:0511-88431885 14 #.:0511-88431333
E-mail:huayang@vip.163.com




R

Instrument Manifolds

451265
+F1308

3z

BeA 1 R R DY L0 % B A2 A 7/16"UNF s s g
This manifold is supplied with one PTFE sealing rings and two 7/16”UNF tensile bolts.

)
CETN

wWEED HH/ R

(>

ox 3"
TTANGHUA

it PN oy iz du . Hegk R
Type Inlet/Process ith Hl/ R Outletinstriument Drain/Test
M2DAV-FN8 1/2NPTHIZZ. Female %% flanged 1/ANPT N IRZL Female
M2DAV-FN8A-F(JREF-471) $14UBW %= flanged 1/4NPT_4.)8$%EQH§%%
Rubber pipe connector
(>}
R )

£%121.5
4771248

AT 1 R R DU SR £ 2 B R A2 A 77167 UNF i s A
This manifold is supplied with one PTFE sealing rings and two 7/16”UNF tensile bolts.

wRED HH/ MR

S UNElur | . He R O
Type Inlet/Process o A S DU G sl e Drain/Test
M2DA-FN8 12NPTHIZEZ Female 1£2% flanged 1/ANPTHIZSL Female

T2 2% = B4H Remote mount 3-valve manifold

£x211.1

L | D
£77219.5
= PN Epuy st | . kO
e Inlet/Process H4 C1/4% 2 Outlet/Instrument Test
M3RV-FN8 12NPT R4 Female 12NPTH 24 Femal 1T Option

M3RV-FN8A (JQFF3%Y)

$14UBW

$14UBW

11 Option

M 5 2E-TAHC B 1/ANPT P SRSt 11 A3 Sk
Option: Use Model No.suffix -T for 1/4 femail NPT test ports and plugs.

EITHAEPAN B FIEBRAR
H111i:0511-88431885 14 #.:0511-88431333
E-mail:huayang@vip.163.com



URRA

Instrument Manifolds

HEZR %= ®4A Direct mount 3-valve manifold

beat

maR) T mwm
gD
| X214 |

+7¥218.9

itees PNEV oy HO/AER

Type Inlet/Process Outlet/Instrument
M3DA-FN8 1/2NPTHIZSL Female %% Flanged

M3DA-FNB8A (J5iSF-2B%) $14UBW %% Flanged
< " i
5 Ty
,@’ S i T
F)
-@ 2 | i
Q@ Lo Hf# o
54
L %2111 4

4772189

GiCRe) N oy du R ES

Type Inlet/Process Outlet/Instrument
M3DA-FL %% Flanged %% Flanged

147

121(max)

138

ox 3"
JTANGHUA

25 A/t fEgz H MR W0
Type Inlet/Process Outlet/Instrument Test
M3DL-FN8 1/2NPTHIRZL Female %% Flanged 1T Option

I JEER-TNELE 1/ANPT YIRS 1 R 3k
Option: Use Model No.suffix -T for 1/4 femail NPT test ports and plugs.

B e M = R B A 2 A PTRFES B 3 A14 L 7/16"UNF 5158 5 4%
The direct mount manifold is supplied with two PTFE sealing rings and four 7/16”UNF tensile bolts.

EITHAEPAN B FIEBRAR
H111i:0511-88431885 14 #.:0511-88431333
E-mail:huayang@vip.163.com



BRI N
JIANGHUA

Instrument Manifolds

H 4 b.-.-_
=
£%211.1
£7219.5
B Type UNEl AN H AR W
P Inlet/Process Outlet/Instrument Test
M3DV-FL (J£1151-H7Y) 2% Flanged 2% Flanged &I Option
A
54
—— y WEmAT%M*W%N
1 | ﬁﬁﬁm
e B
I e
%2111
4772195
=) UNEluy AN H AR W
Type Inlet/Process Outlet/Instrument Test
M3DV-FN8 (J&1151-T%!) 1/2NPTNH24L Female 2% Flanged &L Option

I 5 ZE-TANC B 1/ANPT PRS0 A3 Sk
Option: Use Model No.suffix -T for 1/4 femail NPT test ports and plugs.

ERRRERMLE Remote mount 5-valve manifold

T ke
TR B
= LELh e
[esMs ¥ v iR
m:m E] A
Bnmjz, mﬂ i
-Q(m -; L; 161(max) 2
A5 UNEluy AN . He g o/ o
Type Inlet/Process iti F/%ROutlet/Instrument Drain/Test
M5RVV-FN8 1/2NPT N #24L Female 1/2NPTH RS Female 1/ANPT N I24L Female
M5RVV-FNBA-F (JEWF-1,2) $14UBW $14UBW 1/ANPT-8 R 5
Rubber pipe connector
HIITHAEPANL BB HIE TR AR 5

H1%:0511-88431885 {4 1:0511-88431333
E-mail:huayang@vip.163.com



URRA

Instrument Manifolds

iz 3"
JTANGHUA

261(max)
iths) NEiey iz n . He AR
Type Inlet/Process it F/%ZOutlet/Instrument Drain/Test

M5RA-FN8 1/2NPTHIZEZL Female 1/2NPTH RS Female 1/ANPTHIZSL Female

wﬁw‘$%ﬁ+ﬁmm

54 AUNPT | M
' [ 1

H b 4D

. 975
He A B/ D . HER R
Type Inlet/Process tti [/% ZOutlet/Instrument Drain/Test

M5RV-FN8 12NPT RS Female 12NPT W24 Female 1/ANPT N #24. Female

tortim Y
<<
Bl oo
4x1/2NPT RS S
B M| e | W
! HEED #Hn HEED

Hhi-e

~1/4ANPT
g SMANPT || g75

LR P P I, d  TIERS SR I P

This five valve manifold have two balance valve which are suited in the area of high demand for measurement.

Zithes PNEioy iz dn , HE R
Type Inlet/Process its H R Outlet/Instrument Drain/Test
M5RB-FN8-TP(J5WF-4) 1/2NPTHIZSL Female 1/2NPTHIZSL Female 1/ANPTNIZZL Female
HIIH RN B FEBR AR
H115:0511-88431885 {4 £:0511-88431333 -7-

E-mail:huayang@vip.163.com




URRA

Instrument Manifolds

U.L A?E. &
JTANGHUA

BHIELRE R RLE Direct mount 5-valve manifold

IEX N
o) — H s L
e Nl T OLLLYS":
(R 1 v i
W
281(max) 104.5(max)
A5 UNEluy AN , HER AR
Type Inlet/Process iti F/5%Outlet/Instrument Drain/Test
M5DAV-FN8 1/2NPTHERZL Female %% Flanged 1/ANPT 24 Female
-~ 1/ANPT-08H K i ek
M5DAV-FN8A-F (JEWF-5) $14UBW =% Flanged Rubber pipe connector

Eaeae—4a

. 285(max) b
btk N El oy , HEge 1t
Type Inlet/Process it F & Outlet/Instrument Drain/Test
M5DA-FN8 1/2NPTH#2£L Female V%% Flanged 1/4ANPT N 24L Female

A

o
fa L H M

5l Uk
If’!]l v [ ‘h"l]

| WD #io AR

285(max)

LR W TIPS P BR3P

This five valve manifold have two balance valve which are suited in the area of high demand for measurement.

S UNElur i u] . HEBO AR
Type Inlet/Process b VDO s e Drain/Test
M5DB-FN8 1/2NPTHIRZL Female %% Flanged 1/ANPT R4 Female

BRI HE A 2 APTFE® H A4 L 7/16"UNF = 5 i 12
The direct mount manifold is supplied with two PTFE sealing rings and four 7/16”UNF tensile bolts.

EITHAEPAN B FIEBRAR
H111i:0511-88431885 14 #.:0511-88431333 -8-
E-mail:huayang@vip.163.com



woo g9l din@bueleny:|lew-3
€EELEYB8-L1S0-E %)  G88LEY88-L1GO 41
E7 % BB % B 14l 3 L THS

‘sjonpoud Jayjo ay) Jo uoneoioads ay) Jo sjuswalinbal s Jawolsnd 8y} Se ainjoenuew il 3¢
ued s\ “Auedwod Jno ul }onpoid UOWWOD By} SI }98YS BU) Ul SP|OHUBL BA[EA BYL'Z 1) 2 ¥ 6 S I 2 e O el BT oy [ o < Ol W B HZ P (16 M ch s 212
"Ajuo spjojiuew aA|eA-G pue 8AjeA-¢ 1o} a|gedl|dde si yoiym suod 1ss) ey Bulppy:(1)810N" L W T = G E K)ozt L
3J0N Hi Mt
se|Nn.Is) 8|gNop J0 8gn) [euoloely  HEF XK Jp/L| 3
$8|N.I8) B|NOP JO 8gN} [BUOORIH  HfdieF XK W2/L]| d SO M| 1S
$9|NJI8}) 8|qnop JO aqgn} JUIBIN Hm._w\:ﬁw_mm\m_vw\m wwol o 191LE€M9S
10108UL0D $9|N1J8} B|NOP JO 8qN} OB E K F o X WwiZL| g ss9lel 9s
did
osol rmg"m 4 Buipjam 1ng jo uotun aqny & fxFELEE manyL| v SSYog| ¥S
Y 7 > 10}03UU0D [euondO i i 3t ssizel 1s
[eusie|y Apog
10j08uUu00|3
ay) Jjo|_| Tk Ja ) P
uolnonJsul pajunow
‘0ads ay) 3 Ajjeoion sanjea| A
oos [ (O (g AH L3 L] B
T Uim dwes ayj s a pajunow DIONUEW BABAG
pouyjew s|qe| ay} aul|-ul SaAleA| Tl [
brid Sed| | ooy o) pebuey-[74 N2 L 7
® 1| | et uum swes gl v/ v LdN sewad| ajydess o| [1ON0 WM [BOISA| | SOUEJE SIGNod | Junow sjouisy Plojluewl SABA-E |
(4)LdN/L o HY e V| 2/L| 8 1GHEREA LAN o HirHE P S} oA XX rana s Wb —
ON DY pabue|4 ON 1 I8 1dN 9ew . 341d 19]1N0 Ylm awes uiaped a|buy . junow j0811Qg ploJiuBW BA[BA-Z o
Eaiibee x XG4 LdN Y2 R il ] 11 HH & g 42l B [ ol FHE bl —
_Issqjutedq | [ uswnisu|AspNO | '0oads | ozIs $S820.1d/19|U]| | Bupjoed | uonoalIq 8|u| adA) Apog adA} Junopy os1ies plojiueln
[0 e it/ 1 S 2%)/01H ML | RN I E RN TekHr ElErgmpr: O e ) P N e 5 2 [ieg S H P
uoljewuojul buspiQ L 1% faif [1
1 n.
VAIONVIL Spjojiuey yuswinaysuj

BT

BRI X




